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受験についての注意 
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試験開始の合図があるまで問題文を見ないでください。 

 

解答用紙が不足する場合は、手をあげて監督者に申し出てください。 

 

解答はすべて解答用紙に記入してください。 

 

英和辞書１冊のみ持ち込み可とします（ただし、電子辞書・パソコンの辞書機能等、 

電子機器類の使用を認めません）。 

 

試験中に、問題用紙の不鮮明・欠落などに気がついた場合は、監督者に申し出て下さい。 

 

試験の途中で退室することはできません。ただし、気分が悪くなったり、体の調子が悪くなっ

たりした場合は、監督者に申し出てください。 



 

問題１ 

 

次の英文(Jean-Paul Rodrigue (2024) “The Geography of Transport System”, New York: Routledge

から抜粋)を読んで各問に答えなさい。 

Urbanization is occurring following the development of urban transport systems, particularly in 

capacity and efficiency. Historically, movements within cities tended to be mainly restricted to 

walking, making urban mobility inefficient and time-consuming. Thus, activity nodes tended to 

be agglomerated, and urban forms were compact with mixed uses. Many modern cities have inherited 

an urban form created under such circumstances, even though they are no longer prevailing. The dense 

urban cores of many European and East Asian cities, for example, enable residents to make between 

one-third and two-thirds of all trips by walking and cycling. (あ) At the other end of the spectrum, the 

dispersed urban forms of most Australian, Canadian, and American cities, which were built more 

recently, encourage automobile dependency and are linked with high levels of mobility. Still, Chinese 

cities have experienced a high level of motorization, implying the potential for convergence toward 

more uniform urban forms. Many cities are also port cities, with trade playing an enduring role in 

economic vitality and urban spatial structure, with the port district being an important node. Airport 

terminals have also been playing a growing role in the urban spatial structure as they can be 

considered cities within cities. 

The evolution of transportation has generally led to changes in urban form. The more radical the 

changes in transport technology, the more the alterations in the urban form. Among the most 

fundamental changes in the urban form is the emergence of new clusters in peripheral areas expressing 

new urban activities and new relationships between elements of the urban system. Many cities are 

assuming a polycentric form, a change associated with new mobility patterns. The central business 

district (CBD), once the primary destination of commuters and serviced by public transportation, has 

been transformed by new manufacturing, retailing, and management practices. Whereas traditional 

manufacturing depended on centralized workplaces and transportation, technological and 

transportation developments rendered modern industry more flexible. In many cases, manufacturing 

relocated in a suburban setting, if not altogether, to entirely offshore locations, expanding the reach 

and connectivity of cities. Retail and office activities are also suburbanizing, producing changes in the 

urban form. (い) Concomitantly, many important transport terminals, namely port facilities and 

railyards, have emerged in suburban areas following new requirements in modern freight distribution 

brought in part by containerization. The urban spatial structure shifted from a nodal to a multi-nodal 

character, implying new forms of urban development and new connections to regional and global 

economic processes. 

（この部分につきましては、著作権の関係により、公開しません。） 
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https://transportgeography.org/?page_id=4720
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https://transportgeography.org/?page_id=4992


 

Initially, suburban growth mainly occurred adjacent to major road corridors, leaving vacant plots or 

farmland in between. Later, intermediate spaces were gradually filled up, more or less coherently. 

Highways and ring roads, which circled and radiated from cities, favored the development of 

suburbs and the emergence of important sub-centers that compete with the central business district to 

attract economic activities. As a result, many new job opportunities shifted to the suburbs, and the 

activity system of cities has been considerably modified. （う）Depending on the economic sectors they 

specialize in, cities and even different parts of a metropolitan area can be experiencing development 

at entirely different rates (or even decline), leading to a highly heterogeneous urban landscape. These 

changes have occurred according to a variety of geographical and economic contexts, notably in North 

America and Europe, as each subsequent phase of urban transportation developments led to different 

spatial structures. Sometimes, particularly when new modern urban road infrastructures are built, the 

subsequent changes in the urban form can be significant. Two processes had a substantial impact on 

contemporary urban forms: 

• Urban sprawl. Dominant in North America since the end of World War II, where land was 

abundant, transportation costs were low, and the economy became dominated by tertiary and 

quaternary activities. Under such circumstances, a strong negative relationship 

between urban density and automobile use emerged, involving energy use for urban mobility. 

In the context of cities with high automobile dependency, their built-up areas have grown at 

a faster rate than their populations, resulting in declining densities. In addition, commuting 

became relatively inexpensive compared with land costs, so households were incentivized to 

buy lower-priced housing at the urban periphery. Wherever there was motorization, a pattern 

of sprawl took shape. 

• Decentralization. (え) Resulting in two opposite effects. First, commuting time has remained 

relatively stable in duration, in the range of one hour per day. Second, commuting increasingly 

tends to be longer in terms of distance and made by using the automobile rather than by public 

transit. Most transit and road systems were developed to facilitate suburb-to-city rather than 

suburb-to-suburb commuting. As a result, suburban highways are often as congested as urban 

highways. 

Although transportation systems and travel patterns have changed considerably over time, one 

enduring feature remains that most people are willing to travel between 30-40 minutes in one direction, 

known as Marchetti’s constant. Globally, people spend about 1.2 hours per day commuting, wherever 

this takes place in a low or high-mobility setting. Different transport technologies, however, are 

associated with different travel speeds and capacities. As a result, cities that rely primarily on non-

motorized transport tend to be more compact than automobile-dependent cities. Transport technology 

（この部分につきましては、著作権の関係により、公開しません。） 
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thus plays a significant role in defining urban form and the spatial pattern of various activities.      

(お) Still, the evolution of the urban form is path-dependent, implying that the current spatial structure 

is the outcome of past developments but that those developments were strongly related to local 

conditions involving the setting, physical constraints, and investments in transportation infrastructures. 

It takes substantial effort and long-term commitment to change the spatial structure of a city noticeably. 

[1] 下線部(あ)を和訳しなさい。 

 

 

 

[2] 下線部(い)を和訳しなさい。 

 

 

 

[3] 下線部(う)を和訳しなさい。 

 

 

 

[4] 下線部(え)にある two opposite effects とはどういうことか説明しなさい。 

 

 

 

[5] 下線部(お)を和訳しなさい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

（この部分につきましては、著作権の関係により、公開しません。） 
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問題 2 

 

以下の文章は、米国のニューヨーク連邦準備銀行に勤めていた Joseph Wang 氏による、お

カネの仕組みに関する平易な解説書からの引用です。これを、なるべく辞書を引かずに通読

して文意をつかんだ上で、以下の問いに対して、解答用紙に答えを書きなさい。 

 

用語の参考 

・ Federal Reserve (Fed): 連邦準備制度。米国の中央銀行で、日本では一般に FRB と呼ばれます。 

・ FDIC： Federal Deposit Insurance Corporation、連邦預金保険公社 

・ IOU: I owe you の略。借用証書、債務証書と訳されるが、この試験では IOU のままでも可です。 

・ Treasury: 財務省と国債（財務省証券 Treasury securities）の意味があります（後者はたいてい複数型です）。 

 

仕組みの参考 

 現代の金融制度は貸し借りの関係で成り立っていて、部門間のバランスシート（貸借対照表）で整理す

るとよく分かります。バランスシートは資産(assets)と負債(liabilities)からなり、誰かの資産は誰かの負債と

なっています。解答の参考にしてください。 

The Treasury Fed Commercial Banks Corporations, people 

Assets Liabilities Assets Liabilities Assets Liabilities Assets Liabilities 
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[1] 本文では、おカネ(money)は何種類あり、それぞれは何であり、誰が創り出し、誰が保

有すると説明されていますか。一覧表にしなさい（文章での説明は不要です）。 

ただし、あなたの財布の中のおカネで、本文で説明されていないものがあるはずですの

で、それについて簡潔な文章で追記しなさい。 
 

[2] 本文で currency は「おカネ」や「通貨」よりも限定的な意味で使われています。 

これにふさわしい訳語を示しなさい。 
 

[3] 下線部(1)を正確に訳しなさい。 
 

[4] 下線部(2)を正確に訳しなさい。  
 

[5] 下線部(3)を正確に訳しなさい。  
 

[6] 下線部(4)を正確に訳しなさい。 
 

[7] ★印の付いた最後の 2 つの段落で説明されていることを 5～10 行程度で要約しなさい。

誰が誰に対して何をし、誰がどのように仲立ちをするのかをよく理解して書き始めるこ

と。 



 

What is money? When most people think of money, they picture rectangular pieces of government-

printed paper, known as fiat currency, decorated with historical figures. Although this is the most well-

known form of money, it is only a small part of what constitutes money in the modern financial system. 

Look in your wallet and think about your day—how much currency do you carry and use? If you are 

like most people, then your salary is wired into your bank account and spent via electronic payments. 

The numbers that you see in a bank account are called bank deposits, a separate type of money that is 

created by commercial banks, not the government. Bank deposits are the vast majority of what the 

public thinks of as money.  

In practice, bank deposits can be seamlessly converted into government-issued fiat currencies in 

real time at any bank or ATM machine. But the two are very different. A bank deposit is an “IOU” 

from a bank that can become worthless if the issuing bank goes bankrupt. On the other hand, a $100 

dollar bill is issued by the Federal Reserve, which is part of the U.S. government. That $100 bill will 

have value as long as the United States exists. (1)There is much more money in bank deposits than 

there is in paper bills, so in theory, a bank would run out of cash if everyone withdrew their deposits. 

But that’s not really an issue because people today feel safe holding bank deposits, in part because the 

government provides $250,000 in FDIC deposit insurance for account holders. This makes bank 

deposits as safe as fiat currency for most people.  

The third type of money is central bank reserves, a special type of money issued by the Federal 

Reserve that only commercial banks can hold. Much like a customer’s bank deposit is an “IOU” from 

a commercial bank, a central bank reserve is an “IOU” from the Federal Reserve. From a commercial 

bank’s standpoint, currency and bank reserves are interchangeable. (2)A commercial bank can convert 

its bank reserves to fiat currency by calling up the Federal Reserve and asking for a shipment of 

currency. A $1000 shipment of currency would be paid for by a $1000 decline in reserves from its 

account at the Fed. Commercial banks use bank reserves when they pay each other or anyone else who 

also has a Fed account, and they use currency or bank deposits to pay everyone else.  

The final type of money is Treasuries, which is basically a type of money that also pays interest. 

Just like fiat currencies and central bank reserves, Treasuries are issued by the U.S. government. They 

can be readily convertible to bank deposits by selling them in the market or by using them as collateral 

for a loan. Imagine that you are a large institutional investor or very wealthy person with hundreds of 

millions of dollars. You are not eligible to hold central bank reserves because you are not a bank, it 

would not make sense for you to deposit all that money at a commercial bank because it far exceeds 

FDIC insurance limits, and it would be silly to hold a mountain of fiat currency at home. For you, 

Treasuries are money. 

In a functional financial system, all forms of money are freely convertible to each other. When that 

conversion breaks down, then serious problems in the financial system emerge. (中略) 

(3)Central bank reserves are created when the central bank buys financial assets or makes loans.  

（この部分につきましては、著作権の関係により、公開しません。） 



 

The central bank is the only entity that can create central bank reserves, so the total amount of reserves 

in the financial system is completely determined by central bank actions. For example, when the 

Federal Reserve purchases $1 billion in U.S. Treasury securities, it creates $1 billion in central bank 

reserves to pay for them. That happens whether the seller of the Treasuries is a commercial bank or a 

nonbank. If the Fed bought the Treasury security from a commercial bank, then the commercial bank’s 

Treasury security asset is exchanged for central bank reserves. 

★ If the Fed purchased the Treasury security from someone who is not a commercial bank, the 

situation is slightly different because they do not have a Fed account and are thus ineligible to hold 

central bank reserves. If a corporation sold $1 billion in Treasury securities to the Fed, then the sale 

proceeds would be deposited at the commercial bank that the corporation banks with. The Fed would 

add $1 billion in reserves to the commercial bank’s Fed account, and the commercial bank would add 

$1 billion to the corporation’s bank account. At the end of the transaction, the commercial bank would 

have a $1 billion in central bank reserves assets, balanced by an increase in $1 billion in bank deposit 

liabilities to the corporation. 

★ (4)Central bank reserves never leave the Fed’s balance sheet, but they get shuffled around daily 

as commercial banks settle payments with each other. Suppose the corporation took half of that $1 

billion and made a payment to its supplier who banked with a different bank. The corporation would 

see a $500 million decline in its bank account balance, while its supplier would see a $500 million 

increase in its bank account balance. Behind the scenes, the corporation’s bank would send $500 

million in central bank reserves to the supplier’s bank, who would then credit the supplier’s account 

with $500 million in bank deposits. 

 

Wang, Joseph J. (2020) Central Banking 101 (English Edition) (pp.11-17), New York, ISBN 978-0-

9991367-4-4,  
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 出 題 意 図  

 

問題１ 

大学院での研究に必要な英文の読解力について確認するため。 

 

問題２ 

説明文を通読して、著者が説明している概念を理解できる英語力を確認するものである。ま

た、部分的な翻訳の問題によって、英文を文法的にも正確に理解し、その意味を的確に伝え

る日本語の文章力を試している。問題文は、一般人に貨幣の仕組みを平易に説明する内容の

ものであり、必ずしも金融や経済に関する専門知識を必要とせず、一定の英語力があれば読

解できるものである。また出題者は、問題の最初に専門用語の意味や訳語を示し、本文で示

される仕組みの図解も与えており、これを援用して回答できればよい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 解 答 例  

 

問題１ 

[1] 一方、比較的最近に建設されたほとんどのオーストラリア、カナダ、アメリカの分散型

都市形態は、自動車への依存を促進し、高レベルのモビリティと結びついています。 

 

 

[2] 同時に、コンテナ化によってもたらされた現代の貨物配送における新たな要件［要求、

条件］を受けて、多くの重要な輸送ターミナル、すなわち港湾施設や鉄道ヤードが郊外

に出現しました。 

 

 

[3] 専門とする経済セクターによっては、都市や大都市圏のさまざまな地域は、まったく異

なる速度［率］で発展（または衰退）する可能性があり、これは非常に異質な都市景観

をもたらします。 

 

 

[4] 「一つは、通勤時間は 1 日 1 時間程度で比較的安定していること、もう一つは、通勤

距離が長くなり、公共交通機関ではなく自動車を使用する傾向が強まっていること。」あ

るいは「通勤時間は安定しているのに（自動車利用により）通勤距離が長くなったこと。」 

 

 

[5] それでも、都市形態の進化は経路依存的であり、つまり現在の空間構造は過去の発展の

結果であることが示唆されるが、それらの発展は、環境や物理的制約、交通インフラへ

の投資を含む地域の条件と強く関連していました。 

 

 

 

 

 

 

 

 

 

 



 

問題２ 

[1] 以下のような表を書けばよい。本文で説明されていないおカネは硬貨である。 

貨幣の種類 発行者 保有者 

不換紙幣 米国政府 だれでも 

銀行預金 商業銀行 だれでも 

中央銀行準備 米国政府 商業銀行 

国債 米国政府 だれでも 

 

 

[2] 本文の意味では、currency は「現金」または「紙幣」と訳せばよい。 

 

 

[3]～[7] 問題文の全訳を参照。 

 

問題文の全訳 

貨幣(money)とは何か。貨幣といえば多くの人が、長方形の紙切れに歴史上の人物があしら

われた、政府が印刷した不換紙幣(fiat currency)と呼ばれるものを思い浮かべるだろう。これ

は最もよく知られた貨幣の形態だが、現代の金融システムにおいては、貨幣を構成する物の

ごく一部に過ぎない。あなたの財布の中を見て、一日にどれだけの通貨を持ち歩き、使ってい

るか考えてみてほしい。他の多くの人たちと同じようならば、あなたの給料は銀行口座に振

り込まれ、電子決済で使われる。銀行口座にある数字は銀行預金(bank deposits)と呼ばれる

もので、政府ではなく商業銀行によって作られた別の種類の貨幣だ。一般の人々が貨幣だと

思っているものの大部分を占めているのは銀行預金である。 

実際には、銀行預金はどの銀行や ATM でも、リアルタイムで政府発行の不換紙幣へとシ

ームレスに換金できる。しかし、この 2 つは全く異なる。銀行預金は銀行の「IOU(借用書)」

であり、発行銀行が倒産すれば無価値になる可能性がある。一方、100 ドル札は米国政府の

一部である連邦準備制度（Fed、日本では一般に FRB と略される）が発行している。その 100

ドル札は、米国が存在する限り価値を持つものである。(1)銀行預金の残高は紙幣(paper bills)

よりもはるかに多いので、理論的には、すべての人が預金を引き出せば、銀行は破産してし

まう。しかし、政府が口座保有者に対して 25 万ドルの FDIC 預金保険を提供していることも

あって、現代人は安心して銀行預金を置いておくので、実際にはそのような問題はない。こ

のため、ほとんどの人にとって銀行預金は不換紙幣と同じくらい安全である。 

三番目の種類の貨幣は中央銀行の準備預金（central bank reserve, reserve, 中銀準備、準備）

である。これは Fed が発行する特別な種類の貨幣で、商業銀行だけが保有できるものである。

銀行預金が商業銀行の「借用書(IOU)」であるのと同様に、中銀準備は Fed の「借用書」で

ある。商業銀行の立場からすれば、準備は現金(currency)と交換可能である。 



 

(2)商業銀行は、Fed に電話をかけて現金の出荷を依頼すれば、準備を不換紙幣に変えることが

できる。1000 ドルの現金の代金は、Fed の口座から 1000 ドルの準備を引き落として支払う。

商業銀行は互いに（あるいは同じように Fed に口座を持っている他の誰かに）支払いを行う

際には準備を使用し、それ以外の企業や人々に支払いを行う際には、銀行預金か現金を使用

する。 

最後の種類の貨幣は国債(Treasuries)である。これは基本的には利子も支払われる一種の貨

幣である。不換紙幣や中央銀行準備と同じように、国債は米国政府によって発行される。国

債は市場で売却したり、借り入れの担保にしたりすることで、銀行預金と容易に交換するこ

とができる。あなたが大口の機関投資家か、数億ドルを保有する大金持ちだとしよう。銀行

ではないため中央銀行準備を保有する資格はなく、また FDIC 保険の限度額をはるかに超え

る金額を持っているため、その資金をすべて商業銀行に預けることは合理的ではない。そう

いうあなたにとっては国債が貨幣である。 

機能的な金融システムでは、すべての貨幣は互いに自由に交換できる。兌換が破綻すると、

金融システムに深刻な問題が生じる。（中略） 

(3)中央銀行準備預金(central bank reserves、中銀準備あるいは準備とも呼ぶ)は、中央銀行が

金融資産を購入したり、融資を行ったりする際に創出される。中央銀行は、中銀準備を創出

できる唯一の主体であるため、金融システムにおける準備の総額は、中央銀行の行動によっ

て完全に決定される。これは、国債の売り手が商業銀行であろうと非銀行部門であろうと同

じである。Fed が商業銀行から国債を購入した場合、商業銀行の国債資産は中銀準備と交換

される。 

★ Fed が商業銀行でない者から財務省証券を購入した場合には、その者は Fed に口座

を持っておらず、従って中央銀行準備を保有する資格がないため、状況は少し異なる。ある企

業が 10 億ドルの財務省証券を Fed に売却した場合には、売却代金はその企業が取引してい

る商業銀行の預金となる。Fed は 10 億ドルの準備を商業銀行の Fed 口座に追加し、商業銀

行は 10 億ドルを企業の銀行口座に追加する。取引が終わると、商業銀行は中央銀行準備 10

億ドルと、企業に対する銀行預金負債 10 億ドルの増加によってバランスすることになる。 

★ (4)中央銀行準備が Fed のバランスシートから流出することはないが、商業銀行が毎日、

互いに支払いを精算することによって入れ替わる。仮にこの企業が、10 億ドルのうち半分を、

別の銀行と取引をしている納品業者に支払ったとしよう。その場合、この企業の預金残高は

5 億ドル減少し、納品業者の預金残高は 5 億ドル増加する。その裏では、この企業の取引先

銀行は中央銀行準備を 5 億ドルだけ、納品業者の取引先銀行に送金し、その銀行は納品業者

の口座に預金 5 億ドルを入金する。 
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